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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes

| each sentence. Then mark the correct choice on your answer sheet.

1-  What was intended as a peaceful demonstration rapidly ——------- into violence.

1) agitated 2) degenerated 3) preceded 4) discriminated
2-  The Democratic Party -——-——— 70 percent of the vote,

1) garnered 2) esteemed 3) obligated 4) assembled
3-  Some animals can --———--- very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand
4- Researchers have discovered that up to one half of all children born of alcoholics are

genetically ~———---— to alcoholism.

1) discerned 2} apprehended 3) predisposed 4} impressed
5- Communication via the Internet gives an important ---—--— to international trade.

1) dimension 2) exposure 3) expenditure 4) distribution
6- Lack of childcare facilities can be a major - - for women wishing to work.

1) dispute 2) routine 3)obstacle 4} contraction
7- Itis a common --—-----—- that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
8 The - for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
9-  The degree of punishment should be ------=-- to the seriousness of the crime,

1} inclined 2) receptive 3) prominent 4) proportional
10- Low inflation is the key to -—-——------ economic growth,

1) sustained 2) congruous 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
correct choice on your answer sheet.

Commonwealth of Nations 18 an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) --—-——-- the British Dominions were recognized as ‘autonomous communities’, (12) -=-----
the British Crown. Sinee 1947, when India chose (13) ---—------ within the Commonwealth, it
has consisted of an increasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) --——------ a total of fifty-three member states, is confined
(15) —=mmmmemee head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

11- 1)so 2} which 1) so that 4) in which
12- 1) binding together 2) bound together by
3) together having bound 4) having bound together
13- 1) to remain 2premaining 3) for remaining 4) to be remained
14- 1) by 2) out of 3) within 4) outside
15- 1) for 2) to who 15 3) to that of 4) that she is
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| Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3)
or (4). Then mark it on your answer sheet.

PASSAGE 1:

The winglet has been widely used on commercial aircraft as aimeans of enhancing
fuel efficiency. It also has been widely recognized for its aesthetic value. The
winglet, originally designed as an add-on device for existing airplanes, has now
become an essential part of aircraft design. The initial concept of the winglet was
demonstrated experimentally. A wind tunnel, flight tests, and the database
constructed by previous tests have been the main tools for the designers. Then,
computational methods, such as the panel method, were used for a more efficient
design of the winglet in the early design phase . Most of previous designers
focused on induced drag reduction [3] in the early design phase. The effects on the
other drag components, that is, profile and wave drag, were mainly confirmed by a
wind-tunnel test as the next design step. Also, structural design considerations,
such as the weight penalty and flutter characteristics, were considered in the
structural design phase in a sequential manner.

Enhancement of fuel efficiency was -——==-==-—,

1) The original goal of the winglet design

2) widely disregarded in commercial aircraft

3) Not of a concern when designing winglet

4) Impossible if winglet was applied to existing aircraft

Aesthetic value referes to winglet -———.

1} Efficiency 2) Beauty 3) Enhancement 4) Originality
It was considered as an add-on device because
1) The existing design could not take advantage of it

2) It was not easy to manufacture aircraft with winglet in the past

3) Designers had to wait for future results before using it

4) The existing aircraft did not incorporated such a device in their design
Which statement is true in winglet design?

1) Numerical work preceded experimental work

2) Numerical work superseded experimental efforts

3) No numerieal work was done for winglet design

4) No experimental work was needed for winglet design

In structural design
1) Weight penalty had to be considered first  2) Flutter characteristics had a priority

3) Both weight and flutter had equal priority. 4) Neither weight nor flutter wer essential

—
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PASSAGE 2:

The efficiency of turbine engines improves as the operating témperature of the
working fluid in the turbine increases. However, higher fluid temperatures in
turbines lead to turbine blade failure as a result of exceeding temperature himits for
the turbine blade material. A common means of cooling turbine blades is film
cooling, in which the goal is to protect the blade surface from the hot cross flow by
a film of cooler fluid injected through holes in the blade surface. These film-
cooling holes must be designed in such a way that the coolant jet covers and
remains near the blade surface and does not excessively penetrate into the cross
flow. The film-cooling jets consume a significant amount of process air, and
therefore an important design goal i1s to maximize the cooling and minimize the
mass flow through the jets.

Operating temperature .
1) Increases indefinitely 2) Improves the working fluid
3) Depends on the working fluid 4) Affeets the overall efficiency
Blade material
1) Always cause blade failure

2) Affects the temperature limits

3) Works better at higher fluid temperatures

4) Can tolerate exceeding temperature in.made of lead
Film cooling means —
1) Hot cross flow is used as injected fluid

2) The blades are cooled during film production

3} A method of protection of blade from hot cross flow

4) Holes in the blade surface are protected from the hot cross flow
Deep penetration into the eross flow --

=

1) Should be avoided 2) Must be designed for

3) Exists only near blade surface 4) Causes excessive coolant jet coverage
Process air refers to the

1) Hot cross flow 2) Film cooling fluid

3) Air flow though the engine 4) consumed air by the engine flames
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PASSAGE 3:

Satellites in low Earth orbit ultimately reenter the Earth s atmosphere at the end of
the mission due to orbital decay. Although most of the mass of a typical space
vehicle is destroyed and rendered harmless, a significant portien survives to
ground impact. As the number of reentry events has increased in recent years,
some surviving components have impacted near populated areas and drawn
attention to the casualty risk. In response to this hazard, the government developed
guidelines to mitigate the danger posed by randomly reentering space objects that
survive to surface impact. If an upper bound for casualty expectation is exceeded, a
controlled deorbit/reentry into a sparsely populated region is recommended. The
mathematical methods needed to compute risk to people and property from
uncontrolled reentries has been developed. The impact probability density function
for surviving debris objects associated with an uncontrolled reentry is derived. The
impact probability density function is used with the population density function to
compute the casualty expectation. Examples of casualty expectation and risk of
damage to property are provided.

26~ Orbital decay is —— :
1} Inevitable for all satellites 2) Aumission goal for atmospheric research
3) A characteristic of low earth orbit satellites 4) Considered only when reentry can be avoided
27- Casualty risk
1) Increases for impact in populated areas
2) Is typically harmless for heavier spacecrafts
3) Should be lowered when number of reentries increase
4) Decreases when significant portions impact the earth
28- Mitigation of the danger is
1) The responsibility of the government
2} only possible if the reentry is random
3) Impossible due o the state of technology
4) Possible only when associated rules are followed
29- Reentry into sparsely populated region — -
1) Exceeds expectation 2} should exceed the upper bound
1) Is desired since it causes the least damage 4) must be avoided since it increases the casualty
30- The article elaims that casualty expectation can be assessed if --
1) Population density is higher than expected 2) Impact probability function is reduced
3) No surviving debris objects exists 4) Controlled reentry is not possible
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